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Soction~ A

Q-  Write the correct option l.e. A, B, Cor Dinthe empty box provided op

ifaj=b,.,»-b,(hen ial = e A bnf‘b.l 7 B. b.n1"b1
Jei

The function f (x ) = x*is calied a  A. Linear 8. Squaring

....... function.

The Arithmelic mean of A7 B. 2%

(2 +3)and (2 -3) s .....

5, = ...... A. 36 . 8l

The number of terms in the A, (n+1) B. (n~1)

expansion of (a +b)"is .......

Cos{o + =) = wvovene ~sin{o) B, sin(o)

Sum of the series A n(n+1)  Boa(n+1)

(1+2+3+.... +n)is ... ST

If A and B are two independent A P(B) B. P(AAB)

events lhen P (A/B) = ...... “P(B) -

The range of sin (X} is ....... A. [0,1] B.-1,0]

Afunction f: x ~»y having one o .A. Bijective  B. Surjective

one cofrespondence and onto, ‘ ’

then such a function is called.......

function, ) )

Two vaclors having the same A. Negative B. Zero

magnitude and direction are

called....... veclors.

Two complex numbers Zyand Z; are A, +i B, -1 +0i

said o be the muitipticative inversa of

each other if Ze. Zy = ...... whero

Zr=a+ib,Za=c+id .

. The mid point of the vectors A. (6,4,6) B. g
2.7.-1)2nd (4, 1, 2)is .covnt. ‘ ‘ (3. 4.5}
Roal part of tho complox number A, (x2 + yz) B. (x*- yz)
of the form (x +1y)“ is ... .
£ A, H and G Ug Iho Adthmetic Mean, A. (AxH)?  B. A'xH?
Geometric mean and Harmonic Mean ’
respectively then G’ = _.....

A circie passing through the A. Incircle B. Incenter
vertices of any triangle is called
the......

' If Als a square matrix then (A = ...... A A B. A
The set of all possible oulcomes A, Event B. Sample space
of an experiment is called.......

<267 = =L A, Sin0 B, Cous O
A. Diagonal  B. Column
6 matrix [8 g} is called a g
..matrix.
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Note:

Q:—ll:

Q-

(Fresh/Reappear)
Time aliowed for Section — B and Section~Gls 2 Hours and 40 minutes. o ,
Section—B Marks: 50
Answer any TEN parts. Each part carries FIVE mérks. ‘
BT Sepafate »«(: - i,)—-- into reél and imaglinary parts.
+ i -
. Find the multlphcatlve inverse of (-- 1. 2) -
3. Solve the system of equatlon A~y=2and 2x +y=3 by Matnx
4 LelA= [‘!3 21 2] then show that AA = A'A
5. Hr=i- 9, a=1i+ 2] and b = §i ~ | . Determine the real number p and q.such that r = pa + gb:
6.  Showthatijxk=1.
7. Convert 0.21 to a common fraction.
8. - Writein terms of factorial n {n? ~ 1).
0.  P(A)= -f;'.P(A-un)= ; and P{ANB)= i find P (B ).
10 Prove that (Sin0 — Cos0)? = 1 - SIn20.
11, Find the middle term of (3x + »21)“’.
: X
12. letf(x}= —w—"z then find the domain and range of | ' ;
13, Graph the linear ine'quali{y X + y <2,
Section-C Marks: 30
Note : Attempt any THREE questions. Each question carries equal marks,
(a) Solve the system of equations by matrix method.
© Ax=3y+ Z=11
2x+y-47=-1
X+ 2y 27 =1 : :
() Prove that 5is the fac,tor of 321 4 o= '. where n is any posmve lntegar

Qv

Q-v

Q-Vi

PRXI(01)16 = %
MATHEMATICS (New)
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(a)  Express (2500 - 5Cos0) in the form of r. sin (0 + ¢}

{b) Prove that tan0. tan % = s5ec0-1.

(a) Find the missing parts at AABCwhenb =16, c=3.2and o = 100° 24’ .
(b) Find the area of the AABC where a=92,b=71 and. ¥ = 56° 44",

(a) Find the domain and range of Cos4x.

(b) Draw the graph of the functions y =~ cot x “mEX< T,



